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COMPUTER SYSTEM ARCHITECTURE
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fwifta wa ; V2 Her )
Time allowed : 12 Hour]

[arferemam 37 : 30
[{Maximum Marks : 30

;. (i) I afEr §ud mEE el siwm e
Note : All Questions are compulsory and each question is of 1 mark.
(i) 3 srSre 7 = g7 @) faEfy 7 sinet arqar 8t = &

Only English version is valid in case of difference in both the languages.

[ 2a]

& A e &
(a) SISD

(b) SIMD

(c) MIMD

(@) MISD

ey w3 Aie & itars fem e &
(a) Swd

(b) Fdaw e

(c) WrigH

(d) WERd AEIR H

| &

3 PSS RIET # SR §
(a) W i
(b) Hifewe wfam
(¢) TR wdfam
(@) T 5T

Von Neumann architecture is
(a) SISD

(b) SIMD

(¢) MIMD

(dy MISD

In register addressing mode operands
are looked at

(a) Incache

(b) In secondary storage
(c) InCPU

{(d) In primary memory

The example of implied addressing is
(a) Stack addressing

(b) Immediate addressing

(¢) Indirect addressing

(d) None of these
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4,

T fefreer wegee smafa o €
(a) AND 3% OR gate

(b) NAND 3 NOR gate

(c) NOT gate

(d) T99 9 HE @l

FgZ ® ALU gfHe ganisa war &
(a) IS, werd A

(b) vt srforerr frart

(c) AND, OR 3% 7o fBramt

(d) |t T ST At Tt

wF CPU % U 16 fo2 wum wEver ¥ |
T o gen i CPU wda s wwan &

(@) 16 k AAR HibeT
(b) 32k HmR wiewe
(©) 64k 2ar #pw
(d) 256 k AR AebeH

CPUTTEIT ¥

(a) ALU, CU s torees
(b) ALU R CU

(¢) ALU, CU siree fe=p
(d) ALU, CU @R aifser

o1 AR} frmd m fem e £ 0
(a) CPU 3R RAM

(b) RAM 3R ROM

(¢) CPU aivee femr

(d) ¥ 9 HE

1 fore =121 ©R < o | weer ¥
(a) T

(b) OR gate

(c) frm-wig

(d) fFemret

2)

202

Normally digital computers are based
on

(a) AND and OR gate

(b} NAND and NOR gate
(¢) NOT gate

(d) None of these

ALU unit of a computer performs
(a) addition, subtraction operations

(b) all types of arithmetic
operations.

(c) AND, OR and multiplication
operations.

(d) all arithmetic and logical
operations.

A CPU has 16 bit progré.m counter.
This means that the CPU can address

(a) 16 k memory locations
(b) 32k memory locations
{c) 64 k memory locations
(d) 256 k memory locations

CPU consists of

(a) ALU, CU and registers
(b) ALUand CU

(¢) ALU, CU and Hard Disk
(d) ALU, CU and Monitor

Cache memory resides in between
(a) CPU and RAM

(b) RAM and ROM

(c) CPU and Hard Disk

(d) None of these

. The circuit used to store one bit of
data is known as

(a) Encoder
(b) OR gate
(c) Flip-Flop
(d) Decoder
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(a) 9’s TEAHTH
(b) 10’s Trei=w
(c) l’saiﬂﬁrﬁ@
@) 2's Heetag

el e et s e &
(@) T aey

(b) T e

(c) Ao ey

@ e

M| A et @ 'R AR o
TETR T9T SHS HE Hl W FH o
gon sitaa w9 s &

(a) TF g

(b) W TG

(c) URIGTHT

(d) TIEH T

ADD AX, [SI] 2159 3~ewH ¥ fog
EAS §

(a) T
(b) FREE
) TN

d) T ¥ FiE T

Fr 99K 1 faem s war &
(a) wHeTe F @
(b) 90-10 ®T W

(c) THIEIW

(d) IUgE =t

3

10.

11.

12.

13.

14,

2029

In computer, subtraction is generally
carried out by

(a) 9’s compliments
(b) 10’s compliments
(¢) 1’s compliments

(d) 2’s compliments

Floating point representation is used
to store

(a) Boolean values
(b) Whole numbers
(c) Real values

(d) Integers

The average time required to reach a
particular storage location in memory
and obtain its contents is called the

(a) seektime
(b) turnaround time
(c) access time

(d) transfer time

The address mode used in an
instruction of the form ADD AX, {S]]
is

(a) Absolute

(b) Indirect

(c) Index

(d} None of these

The idea of cache memory is based
(a) onlocality of reference

(b) on90-10 rule

(¢) oncluster

(d) All of the above

P.T.O.
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15.

16.

17.

i8.

19.

R A 1O firvew & 7 v dar & 0
(@) LDA
(b) SUB
(c) ADD
d) CMP

T ¥ Hi7 gz fearew i &9
(a) w=Z®

(b) =

(c) ®mEEH

(d) T

T & B 392 feama & 2
(a) AT
(b) T

() CD

(d) BT

F H el @ e w R
T AT f9T 1 9 FEeTr

(a) THRHFE.
(b) TTEH AR

(€) TFRS
(d Tt

TENve fiem & sie wwarRe weem
&

() ST

(b) foeamm

(c) TA-SvE §HY
(@) wRE T

O]

15.

16.

17.

I8.

19.

In a memory mapped IO system
which of the following will not be
there ?

(a) LDA
(b) SUB
(c) ADD
(d CMP

Which of the following is not ag
input device ?

(a) Mouse
{b) Keyboard
(c) Light Pen
(d) Monitor

Which of the following is an input
device ?

(a) Scanner
(b) Speaker
(c) CD

(d) Printer

A group of bits that tell the computer
to perform a specific operation is
known as

(a) Instruction code
(b) Micro operation

(¢) Accumulator
(d) Register

The time interval between adjacent
bits is called

(a) Word-time

(b} Bit-time

(¢) Turnaround time
(d) Slice time
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D system, 20. K fae free seoif@a s &
jll not be (a) 3k

(b) 2k WA

(c) k2T

(d) k3T

s not an 21 MIMD e &

(a) FERIYH FEHA Feeiaed T
(b) RIUS SRR AHR e
(c) ¥Rl TRRME TS TR
(d) W FRETE AN SR

an input

computer
ration is

! T TR B fame ¥ wuieaRd w1

i
t
t d) BT FHE

adjacent

W& @ e S NOR 7ig, aifes 3=
W32 Y A &, =

@ TE I
& wEEtEd
& TFEF=R
o T FEE IR

&)

2029
20. K bit field specify any one of
(a) 3k register
(b) 2k register
(c) k2 register
(d) k3 register

21. MIMD stands for

(a) Multiple instruction
data.

(b) Multiple
data.

(¢) Memory
data,

(d) Multiple information
data.

multiple

instruction memory

instruction multipie

memory

22. Logic gates with a set of input and
outputs is arrangement of

(a) computational circuit
(b) logic circuit

(c) design circuit

(d) register

23. The circuit converting binary data
into decimal is

(a) Encoder

(b) Multiplexer

(c) Decoder

(d) Code converter

24. A three input NOR gate gives logic
high output only when

{a) one inputis high

_ (b) one input is low
(c) two inputs are low
(d) allinputs are high

P.T.O.
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25, TR M & g ¥ 25. Pipelining process is
(a) THRH Q‘Fﬂﬁﬁqvﬁ (a) instruction execution
(b) T kT (b) instruction prefetch
(©) TEHM femiten (¢) instruction decoding
(d) TR AfgEe (d) instruction manipulation
26, “Pedrgire = Suam fea s & 26. “Delayed-ioad” is used for
(a) WRELRve HfERE (a) processor-printer communic
(b) BAR-ERT FERE (b) memory-monitor communic
(c) rEuegm (c) pipelining
(d) T § wif A8 (d) None of these
77, e vafanaadar e 27. Parallel processing may occur
(a) THEAEWH (a) in the instruction stream
() I -g'-\-q o {b) in the data stream
(c) (a) T (b) ¥ (¢) inthe (a) and (b)
) FTHI = 8 (d) None of these

28. et vidfan =1 wma Mt e s € 28. The cost of parallel processi

(@) =d FEERRE deter@ned by '
®) fesfem - (a) tm%e cc.>mp1ex1ty -
© wiEe - Eb; sxlmtc.hmg co;np‘lcmty
. c) circuit complexity
@ I e (d) None of these
29. RISC %1 afirenor & 29. Characteristic of RISC is
(a) R TS Ul o (a) three instructions per cycle
(b) T TN HA T (b) two instructions per cycle
©) U TRERA W wh | (c) one instruction per cycle
(d) T I HE T (d) None of these
30. CISC & afiremor & 30. Characteristic of CISC is
(a) firre we TRgavH (a) Fixed format instruction
(b) TR HAE IR (b) Variable format instructionf
(¢) TEWHFW fronfE o= (¢) Hardware executed ins 1
(d) +H QY E ] (d) None of these 2
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COMPUTER SYSTEM ARCHITECTURE
mnunicatio: PART-II
mmunicatio
WS WY AR 6 [Aftrmas oim: 70
e allowed : Three Hours] [Maximum Marks : 70
cur Y (i) I EeT sitar & vy 5 @ et ole & see e
i am o Question No. 1 is compulsory, answer any five questions from the remaining.

(1) T 7T F it a @ A v AT g S |
Solve all parts of a question consecutively together,
(iii) W% 7o i 99 1 & gRRy S |
Start each question on a fresh page.
processing (iv) 3 Tt & s aie #ﬁaﬁn‘aﬁﬁ?mﬁmé /

Only English version is valid in case of difference in both the languages.

ity == % 3w ffig |
‘ ‘wte the answer of following :
MBR w8 MAR et sar & 9
is ‘ What is MBR and MAR register ?
pereycle T IO FRFTR F) ST Wi weE |

pel CYC1e

. Explain full duplex communication with example.
et cycCle

o W AR o

What is virtual memory ?

s R I i A S & T e S |

gruction ) o )
struction Enlist any five logic micro operations,
ted instruclips  TTERATSIIT T Bt & 0
What is pipelining ? , (2x5)
(7 P.T.O.




CS202/1T202 8 2029

2.

®

(i)

(ii)

o)

(ii)

@)

(i)

®

(ii)

(1)

(i)

T § AEATEE FHAZ 9§ A A FfweTa? IRfEd FiWT | T@%
HAT 1 F 5t T |

Draw the ‘Von Neumann Architecture’ of computer showing its essential
components. Give function of each component.

feree Tl STVER it THEEE |

Explain shift micro operations. (6+6)

FIREY SCHIESN Ht FEH AREHe B GRS |
Explain instruction cycle of computer organization.
faftr= w3 =P # g |

Explain various addressing schemes. (

e ARET 3 v e tE T2 & fdt remiftem i wweed |

Explain any addition and subtraction algorithm used in Arithmetic Processor.
fafir=r weifeT i itmem =t wwened |

Explain different floating point operations. (
R AR o1 & 2 TR |

What is stack organization ? Explain.

TG SCAEAYH % AR |

Explain Multiprocessor organization. (

T AW T4 Gl & 7 TR THARE |
What is Cache memory ? Explain it.
WEET 91 e F AUFEd |

Explain processor bus organization. (

Sherer SREROT S} WA @ TR REET B AU TR |
Explain the working of parallel processor with suitable example.
fafi= ey féwr wreat =t wETEa |

Explain various computer instruction formats. (

= dfire oot fofae .

Write short notes on following :

(i)

wE ) e

Generations of Computer

() Twag

DMA
(iii) TG TR

Flynn's classification (




